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B# | DL | £ % Fall BB ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #1 | #9 | #1 | #9|#1 | #9 Mean NS EW
11 | S |None 4HW4 420 4CN-3 150 270 7 EW330 -3 -5
12 | W | NS 3NE3 400 3NE3 400 EW240 -4 4
13 | N |Both 2NS-2 200 2NS-1 100 100 3 NSO -5 3
14 | E |None 4SW-1 50 3NW-1 50 NSO 2 -2
15| S | NS 5SXS-1 200 4HE4 420 220 6 NS10 -5 10
16 | W | EW 4SS5 450 4SS5 450 NS450
17 | N |None 3NN-1 50 3NS-4 200 150 4 NS150 -5 8
18 | E | NS 4S5S4 620 4SS-1 100 720 12 NS370 6 10
19| S | EW 3DS5 150 3DN4 130 20 1 NS120 1
20 | W |Both 4DN5 150 3NN-1 100 250 6 NS300 -4 9
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B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 2nzzs | Ns [ EW | 2922% | NS | EW | #2 | #11 | #2 [#11] #2 [#11 || Mean | Ns EW
11 S |None 4HW5 450 3HW3 140 310 7 EW330 -3 -5
12| W | NS 3NE4 430 3NE3 400 30 1 EW240 -5 4
13 | N |Both 2NS-1 100 1NS1 90 190 5 NSO -3 -3
14 | E |None 4SW4 420 4SW-1 50 470 10 NSO -9 -2
15| S NS 4S5S4 620 4SS4 620 NS10 12 -12
16 | W | EW 4SS5 450 5CN6 420 30 1 NS450 1
17 | N |None 3NN3 400 3SS-1 50 450 10 NS150 6 5
18 | E NS 4SS5 650 2DXW-1 100 550 11 NS370 7 7
19| S | EW 3DS4 130 3DN5 150 20 1 NS120 -1
20 | W (Both 2HE-2 200 3NS3 600 400 9 NS300 -3 -7
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B# | DL | £ & cH3 Mz ik REAA | COP Datum
[ 2923% | NS [ EW | 25z5% | NS | EW | #3 | #5 | #3 | #5 | #3 | #5 || Mean | Ns EW
11 S |None 4HW5 450 4HW4 420 30 1 EW330 -3 3
12| W | NS 3NE3 400 3NE-1 50 450 10 EW240 -4 -7
13 | N |Both 2NS3 150 2NS2 120 30 1 NSO 4 -3
14 | E |None 5DE-1 50 3sw4 170 220 6 NSO 2 5
15| S NS 4HW4 420 4HE4 420 NS10 -10 10
16 | W | EW 4SS5 450 4SN6 480 30 1 NS450 -1
17 | N |None 3NS4 430 2NN3 150 280 7 NS150 7
18 | E NS 4S5S4 620 4SS4 620 NS370 6 -6
19| S | EW 3DN4 130 3NS4 430 300 7 NS120 -7
20 | W (Both 3NS3 600 2SN2 110 490 10 NS300 7 5
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B# | DL | £ % Fall BB ik REAA | COP Datum
* tyze% | NS | EW | 2¥zu3% [ NS | EW | #4 | #13 | #4 [#13] #4 [#13]| Mean | Ns EW
11 S [None| 4HW4 420 4HW4 420 EW330 -3 3
12 | W | NS 3NE3 400 3NE3 400 EW240 -4 4
13 | N |[Both 2NS2 120 2NS2 120 NSO 3 -3
14 | E [None 4SW-1 50 3NW-2 100 50 2 NSO 2 -3
15| S NS 4SS4 620 4SS4 620 NS10 12 -12
16 | W | EW 4SS5 450 4SS7 510 60 2 NS450 -2
17 | N [None 3DE-3 150 3NN3 400 250 6 NS150 -6
18 | E NS 2HXW-2 300 4SS5 650 350 8 NS370 -2 -7
19| S | EW 3DS4 130 3SE-1 100 30 1 NS120 1
20 | W |Both 3NS3 600 5DN-1 100 700 12 NS300 7 9
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B# | DL | £ % Fall BB ik REAA | COP Datum
* tyzx% | NS | EW | 24223 | NS | EW | #8 | #10 | #8 [#10| #8 [#10|| Mean | NS EW
11 | S |None 5CXN-4 800 3CXS3 470 1270 15 EW330 | -10 -13
12| W | NS 3NE-1 50 4NW-1 50 EW240 7 -7
13 | N |[Both 2NS2 120 2NS-1 100 | 220 6 NSO 3 3
14 | E |None 3NW-2 100 4SW-1 50 50 2 NSO 3 -2
15| S | NS 4SXS4 790 4HW4 420 | 1210 15 NS10 13 10
16 | W | EW 4SN7 510 4887 510 NS450 2 -2
17 | N |None 2NN2 120 3NN3 400 280 7 NS150 -1 -6
18 | E | NS 4SS-1 100 2DXE-1 100 200 5 NS370 -10 7
19| S | EW 3DS5 150 3Ds4 130 20 1 NS120 1
20 | W |Both 3NS3 600 3NS3 600 NS300 7 -7
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B# | DL | £ % Fall BB ik REAA | COP Datum
* txzux | NS | EW | 223 | NS | EW | #7 [ #12 | #7 [#12] #7 [#12]] Mean NS EW
11| S |None 4HW4 420 4HW4 420 EW330 -3 3
12 | W | NS 3NE3 400 3NE-1 50 450 10 EW240 -4 -7
13 | N |Both 1NS1 90 3NS-2 200 290 7 NSO 3 5
14 | E |None 4SW-1 50 3SwW3 140 190 5 NSO 2 4
15| S | NS 5HW-1 50 4HW4 420 470 10 NS10 1 10
16 | W | EW 6SN7 1010 2NS6 240 770 13 NS450 1 5
17 | N |None 2S8S2 110 3NN4 430 320 8 NS150 -1 -7
18 | E | NS 4SS4 620 5885 650 30 1 NS370 6 -7
19| S | EW 3SE-2 200 2NS4 180 20 1 NS120 2 -2
20 | W |Both 5DS5 600 5DN-1 100 700 12 NS300 7 9
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B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 2mz2s | NS | EW | 2925% | NS | EW | #6 | #14 | #6 |#14] #6 [#14 || Mean | NS EW
11| S |None|] 4HW4 420 3HW4 170 250 6 EW330 | -3 -4
12| W | Ns 3NE-2 100 3NE4 430 | 530 1 EW240 | 8 5
13| N |Both| 2Ns-1 100 1NS2 120 220 6 NSO 3 3
14| E |None| 4sw-1 50 3NE-2 100 50 2 NSO 2 3
15| s | NS 4HW4 420 4HW4 420 NS10 | -10 10
16| W | EW 6SS-1 50 4SN6 480 530 1 NS450 | -11 -
17 | N |None]  3NN-1 50 3NN-1 50 NS150 | -5 5
18| E | NS 4SS-1 100 4sS4 620 720 12 NS370 | -10 6
19| s | EW 3NS-4 200 3NS-1 50 150 4 NS120 | -8 5
20 | W [Both| 5DN-1 100 3NS3 600 700 12 NS300 | -9 7
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B# | DL | £ % MEZ g ik REAA | COP Datum
" 2nzzs [ Ns | EW | 2922% | NS | EW | #9 | #1 | #9 ] #1 |#9 | #1 || Mean | Ns | EW
11| S |None] 4CN-3 150 4HW4 420 | 270 7 EW330| 5 3
12| W | NS 3NE3 400 3NE3 400 EW240 | -4 4
13| N |Both| 2NS-1 100 2NS-2 200 | 100 3 NSO 3 5
14| E |None| 3NW-1 50 4SW-1 50 NSO 2 2
15| S | NS 4HE4 420 55XS-1 200 220 6 NS10 | -10 5
16| W | EW 4SS5 450 4SS5 450 NS450
17 | N |None| 3NS-4 200 3NN-1 50 150 4 NS150 | -8 5
18| E | NS 4581 100 4ss4 620 720 12 NS370 | -10 -6
19| s | EW 3DN4 130 3DS5 150 20 1 NS120 -
20 | W |Both|  3NN-1 100 4DN5 150 250 6 NS300 | -9 4
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* tyze% | NS | EW | 29223 | NS | EW | #11 | #2 [#11] #2 [#11]| #2 || Mean | NS EW
11| S |None 3HW3 140 4HW5 450 310 7 EW330 5 3
12 | W | NS 3NE3 400 3NE4 430 30 1 EW240 -4 5
13 | N |Both 1NS1 90 2NS-1 100 190 5 NSO 3 3
14 | E |None 4SW-1 50 4SW4 420 470 10 NSO 2 9
15| S | NS 4SS4 620 4SS4 620 NS10 12 -12
16 | W | EW 5CN6 420 4SS5 450 30 1 NS450 -1
17 | N |None 38S-1 50 3NN3 400 450 10 NS150 -5 -6
18 | E | NS 2DXW-1 100 4SS5 650 550 1 NS370 -7 -7
19| S | EW 3DN5 150 3DS4 130 20 1 NS120 1
20 | W |Both 3NS3 600 2HE-2 200 400 9 NS300 7 3
#3 INP| 33 | 22 13 | 2
B% 11 Challenge Madam | 2 ¥
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B# | DL | £ % MEZ g ik REAA | COP Datum
* tyzx% | NS | EW | 24223 | NS | EW | #5 | #3 |#5| #3 | #5|#3 || Mean | NS EW
11 | S |None 4HW4 420 4HW5 450 30 1 EW330 -3 3
12 | W | NS 3NE-1 50 3NE3 400 450 10 EW240 7 4
13 | N |Both 2NS2 120 2NS3 150 30 1 NSO 3 -4
14 | E |None 3sw4 170 5DE-1 50 220 6 NSO -5 -2
15| S | NS 4HE4 420 4HW4 420 NS10 -10 10
16 | W | EW 4SN6 480 4SS5 450 30 1 NS450 1
17 | N |None 2NN3 150 3NS4 430 280 7 NS150 -7
18 | E | NS 4S5S4 620 4SS4 620 NS370 6 -6
19| S | EW 3NS4 430 3DN4 130 300 7 NS120 7
20 | W |Both 2SN2 110 3NS3 600 490 10 NS300 -5 -7
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B# | DL | £ % MEZ g ik REAA | COP Datum
" Zmzss [ NS [ EW | 29255 | NS | EW | #13 | #4 |#13] #4 |#13] #4 || Mean | NS | EW
11| S |None] 4HW4 420 4HW4 420 EW330 | -3 3
12| W | NS 3NE3 400 3NE3 400 EW240 | -4 4
13| N |Both| 2NS2 120 2NS2 120 NSO 3 -3
14| E |None] 3NW-2 | 100 4SW-1 50 50 2 NSO 3 -2
15| s | NS 4ss4 620 4884 620 NS10 | 12 | -12
16| W | EW| 4ss7 510 4885 450 60 2 NS450 | 2
17 | N |None|  3NN3 400 3DE-3 150 250 6 NS150 | 6
18| E | NS 485 650 2HXW-2 | 300 350 8 NS370 | 7 2
19| s |EW| 3SE- 100 3DS4 130 30 1 NS120 | -1
20 | W |Both|  5DN-1 100 3NS3 600 700 12 NS300 | -9 7
%3+ IMP|18 | 13 16 | -15
2 4 24 44
B 13 Z i3 4 T =
+ B IMP 18 13
&3+ IMP 18 13 s
2 H-VP 11.85 8.15
b I




2 - - < 3
8 | 114 £~ F 2RpRBF Hl e | 8 10
5
NS ikl ®&#FO) 1 0 T bl 5 8 NS &4 28 (R0)
EW me= #ips(R0) a e EW #¥§ #36(F0O
B# | DL | £ % MEZ g ik REAA | COP Datum
" 25232 [ Ns [ EW | 25z2% | Ns | EW | #10 | #8 |#10] #8 |#10] #8 || Mean | Ns | EW
11| S |Nonel 3cxs3 | 470 5CXN-4 800 | 1270 15 EW330 | 13 10
12| W| NS | aNw-1 50 3NE-1 50 EW240 | 7 7
13 | N |Both|  2Ns-1 100 2NS2 120 220 6 NSO | -3 -3
14 | E |None|  4sw-1 50 3NW-2 | 100 50 2 NSO 2 -3
15| s | Ns | 4HW4 420 4sxs4 | 790 1210 15 NS10 | -10 | -13
16 | W | EW| 4ss7 510 4SN7 510 NS450 | 2 2
17 | N |None[  3NN3 400 2NN2 120 280 7 NS150 | 6 1
18| E | NS | 2DXE1 | 100 4SS-1 100 | 200 5 NS370 | -7 10
19| s |EwW| 3Ds4 130 3DS5 150 20 1 NS120 -
20 | W |Both|  3NS3 600 3NS3 600 NS300 | 7 7
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B# | DL | £ % MEZ g ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #12 | #7 |[#12| #7 |#12]| #7 Mean NS EW
11 | S |None 4HW4 420 4HW4 420 EW330 -3 3
12| W | NS 3NE-1 50 3NE3 400 | 450 10 EW240 7 4
13 | N |[Both 3NS-2 200 1NS1 90 290 7 NSO -5 -3
14 | E |None 3sw3 140 4SW-1 50 190 5 NSO -4 -2
15| S | NS 4HW4 420 5HW-1 50 470 10 NS10 -10 -1
16 | W | EW 2NS6 240 6SN7 1010 770 13 NS450 -5 -11
17 | N |None 3NN4 430 2882 110 320 8 NS150 7 1
18 | E | NS 58S5 650 4S84 620 30 1 NS370 7 -6
19| S | EW 2NS4 180 3SE-2 200 20 1 NS120 2 -2
20 | W |Both 5DN-1 100 5DS5 600 700 12 NS300 -9 -7
23t IMP| 19 |48 A3 | 24
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B# | DL | £ % MEZ g ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #14 | #6 [#14| #6 |#14] #6 Mean NS EW
11 | S |None 3HW4 170 4HW4 420 || 250 6 EW330 4 3
12| W | NS 3NE4 430 3NE-2 100 530 1" EW240 -5 -8
13 | N |[Both 1NS2 120 2NS-1 100 | 220 6 NSO 3 3
14 | E |None 3NE-2 100 4SW-1 50 50 2 NSO 3 -2
15| S | NS 4HW4 420 4HW4 420 NS10 -10 10
16 | W | EW 4SN6 480 6SS-1 50 530 1 NS450 1 1"
17 | N |None 3NN-1 50 3NN-1 50 NS150 -5 5
18 | E | NS 4S5S4 620 4SS-1 100 | 720 12 NS370 6 10
19| S | EW 3NS-1 50 3NS-4 200 150 4 NS120 -5 8
20 | W |Both 3NS3 600 5DN-1 100 | 700 12 NS300 7 9
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